" Mathematics

Volume and Capacity
Exercise 8 Liters and Milliliters nwsday
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Express in milliliters.

a)] 1L100ml=____ ml
c) 1L&40ml=____ ml
e] 2L25ml=____ml

Express in liters and milliliters.

a) 1300mil = L
b) 1450 ml = L
c) 2090 ml = L
d) 2105ml= L
e) 3075ml= L
f) 4005 ml = L

Circle the correct answer.

b) 1L725ml= mi
d 2L85mi=—___ml

f) 3LSml=____ml
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ml
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a) 1L 650 mlis more than / equal to / less than 1065 ml.

b) 2L75mlis more than / equal to / less than 2750 ml.

¢) 3L 30mlis more than / equal to / less than 3030 ml.

d) 3L 9?0mlis more than / equal to / less than 3200 ml.

e) 4L10mlis more than / equal to / less than 4100 ml.

Arrange in order. Begin with the greatest.
5L 9% ml, 5800 ml, 5090 ml, 5 L 900 mi

(greatest)




